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(A) Lycopodium (B) Pteridium
(C) Adiantum (D) Equisetum

‘Which one is calyciflorae ?

(A) Rosales (B) Olacales

(C) Sapindales (D) Ranales
Which one is not a free living
protozoa ?

(A) Amoeba (B) Euglena

(C) Giardia (D) Noctiluca
Which one is a holophytic protozoa 7
(A) Euglena (B) Amoeba

(C) Monocystis (D) Giardia

What is the range of length of
sponges ?

(A) 1 mm - 10 mm

(B) 1cm -1 metre

(C) 1 mm- 100 mm

(D) 1 metre — 10 metre

Potorion is an example of

(A) Protozoa (B) Porifera
(C) Cnidaria (D) Ctenophora
This is not a Cnidarian :

(A) Obelia (B) Jelly fish
(C) Seaanemone (D) Beroe

Which one ié also called Hookworm ?
(A) Ancylostoma (B) Enterobius
(C) Rhabditis (D) Ascaris

Phylum Annelida includes over :

‘(A) 15,000 specles
~(B) 9,000 species

(C) 60,000 species
(D) 9,00,000 species

Among these oxygenation of blood
occurs through moist skins :

(A) Earthworm  (B) Octopus

(C) Squid
This has mouth on the lower side and
anus on the upper side : -

(A) Limulus (B) Buthus

(C) Daphnia (D) Sea urchin
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This is also known as f1 ifig 1isa .
(A) Scoliodon ) Exocoetus
(C) Pristis (D) Trygon
This is not a freshwater fish :

(A) Pomfiet - (B) Kalbasu

(©) Rohu (D) Catla

The number of digits in the limb used
for walking by reptiles are :

A) 4 ®) 2

© 5 D) 6

The number of pairs of cranial nerves
in birds are : '

(A) 6 (B) 10

- (C) 12 D) 4
Who has opposable thumb ?
(A) Platypus  (B) Kangaroo
(C) Mole (D) Lemur
This has wholly or partly lost the
ability to fly : '
(A) Emu (B) Owl
(C) Crane (D) Swan

What kind of microscopy uses
acridine orange ?

(A) Phase contrast

(B) Fluoroscence

(C) Transmission electron

D) Scanning electron

In order to sediment free nbosomes,
centrifugation requires : -
(A) 3,00000g  (B) 50,000g
(C) 12,000 g (D) 8008

The foliowing is generauy used for
creating density gradient during
centrifugation : _
(A) NaCl (B) KCi
(D) MgCl,
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(A) Chaprones

This technique separates proteins
according to their molecular welghts
(A) PAGE

(B) Affinity chromatography

(C) Ion-exchange chromatography
(D) Gel filtration

Which enzyme
peptidoglycans ?
(A) Amylase
(C) Trypsin

can hydrolyse

(B) Lipase
(D) Lysozyme

~ Which part of the cell can contain

N-acetyl glucosamine ?
(A) Ceil enveiope (B) Ceil waii
(C) Nucleus (D) Ribosomes

These can be surrounded by a single
layer membrane :

(A) Sulfur granules .

(B) Glycogen granules -

(C) Phosphate granules

(D) Cyanophycean granules .

How many basal body rings are

present in gram positive cells ?

(A) 3 (B) 2 .

(© 4 ®s
Théﬁlamentinﬂage]lum'canrotateby:
(A) 360° B) 60°

(©) 120° (D) 80°

These type of vacuoles contain
hydrolases :

(A) Sap - (B) Contractile
(C) Food D) Air

Which contains cristae ?

(A) Nucleus (B) Chloroplasts

(C) Ribosomes (D)Mtochondna

Proteins which help other proteins to
fold properly are called :
(B) Actins

(M Cuvnthaca

(Y Darine . Q
W) DS Ynuiases

\\) I ULLUDS
Pectic polysaccharides are present in :
(A) Cytoskeleton

(B) Plasma membrane

(C) Primary cell wall
(D) Tertiary cell wall
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- organism are arranged accordmg to

their :

(A) Increasing size

(B) Decreasing size

(C) Position of centromere

D) N umber of the chromosomes

Flow cytometry allows detection of.
differences in length of nucleic acids
as small as about : :

(A) 1.5 Mbp (B) 15Mbp
(C) 25Mbp (D) 100 Mbp
Mo is a part of this enzyme :

(A) Reverse transcriptase-
(B) Restriction endonuclease
(C) Hexokinase

D) Nntrogenase

The linkage in disaccharides is :

(A) ether
(B) ester

(C) amide

(D) phosphodiester

This is a wax :

(A) Palmitic acid

(B) Ethyl Palmitate
(C) Hexacosyl Palmitate
(D) Sodium Stearate
Not all proteins have a :

(A) Primary structure

(B) Secondary structure

(C) Tertiary structure -
(D) Quaternary structure
A tripeptide contains : ,
(A) 3aminoacids (B) 4amnmac1ds
(C) 6aminoacids (D) 2 amino acids

How many phosphodiester bonds are
there in ATP ?

(A) 3 B) 2

o1 D) 0

What is the pH optimum of Pepsin ?
(A) ~2 (B) ~4

©) ~6 ®) ~8

Which has a structure like clover leaf ?
(A) DNA (B) mRNA
(C) tRNA (D) rRNA
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" Which one of these antibiotics is not
produced by a streptomyces ?
(A) Bacitracin
(B) Chloromycetin
(C) Nystatin
(D) Aureomycin
Figisa: _
(A) Sorosis (B) Syconus
(C) Drupe

(D) Berry

The number of stomatal pores per '

cmzoftlwleafsurfacearemthe

range of :
(A) 1000-60,000 (B) 10-1000

(C) 50,000-1,00,000(D) 50-100

Which ion plays the most important

role in stomatal opening ?
(A) CF (B) H*
(C) K* (D) Na*

During symbiotic nitrogen fixation,
how many moles of ATP are used in

fixing one mole of N, ?

(A) 8 (B) 16
© 5 D) 10

In reductive amination, the product is :
(A) o-ketoglutaric acid

(B) Glutamine

(C) Glutamate

(D) Alanine

Photo-respiration ~ requires  this
activity by an enzyme :
(A) Hydrolase = (B) Oxygenase

(C) Carboxylase (D) ATPase

This is not a C, plant :

{A} Amomnﬂ-‘ (B} P‘icc

- (C) Wheat (D) Potato

Which one has the lowest respiratory

quotient ? : :

(A) Glucose (B) Tripalmitin
(D) Malic acid

(C) Oxalic acid

[1]
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.(A) -acinar cells

Think 10 tha fivat anmanind whish 1o
vv nicn i8 the Iirst Lullpuuna Wiicii is

common for both glucose & fructose
in glycolysis ?

(A) Fructose-6-phosphate

(B) Glucose-6-phosphate.

(C) Fructose-1,6-bisphosphate

(D) Fructose-1-phosphate

Which molecule links glycolysis with

fermentation as well as TCA cycle ?

~ (A) Ethanol (B) Acetaldehyde
(©) PEP (D) Pyruvic acid
Housefly show the following kind of
nutrition : :

- (A) Saprozoic (B) Parasitic
(C) Holozoic (D) Symbiotic
It employs both intracellular and
extracellular digestion :

" (A) Hydra (B) Aurelia
(C) Amoeba (D) Planaria

The alimentary canal in humans has
length of : :

(A) 6-9 metres (B) 2-5 metres
(C) 10-28 metres (D) 1-2 metres
This is a storing organ :
(A) Gallbladder (B) Liver

~ (C) Pancreas (D) Colon

The cells of the pancreas secreting
pancreatxc juice are :
(B) goblet cells

(C) pepticcells (D) oxyntic cells
The hormone responsible for vagus
nerve activity is

(A) CCK (B) Secretin
'(C)'Gastl_'in (D) GIP

How many'splraclcs are present in
thorax in cockroaches ? ‘

(A) 10 (B) 2
(©) 8 D) 6
ERV + RV =7 for lungs :
(A) FRC B) VC
©) IRV D) TV

BIMBS
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_(C) Lymphocyte

What % of CO, is transponed as
HI:CO2 '

- (A) 42 (B) 23
(C) 70 (D) 50
Which one is an allergic disease ?

(A) Bronchitis

(B) Bronchial Asthama
(C) Emphysema

(D) Pneumonia

These are mainly responsible for
protection against infection :

(A) Neutrophﬂs (B) Eosmophxls
u..,) nawpﬂues uJ) 1mmnoocytes

. The cells contained in the lymph are

mostly :

(A\ “mmh\n}rteg (l'-'!\ ﬂuonph-la

Birds excrete nitrogenous waste as :

(A) Uric acid (B) Urea

(©) NH, (D) Guanine
Atrial natriuretic factor is released by :
(A) Heart (B) Brain
(O) Kidney (D) Pancreas
The monomeric actin is called :
(A) F-actin (B) M-actin
(C) G-actin (D) N-actin
Red Muscle has :

(A) More mitochondria

(B) Less mitochondria

(C) More sarcoplasmic reticulum
(D) Less blood capillaries

How many types of synovial joints
are there ?

(A) 4 (®B) 3
© 2 ®) 5
This is diagnosed by the presenoe of
atype of IgM :
(A) Osteoporesis
(B) Gout
(C) Osteoarthritis
(D) Rhf:umatoid arthritis '
The latitudes for the zone are
(A) 40°-60° B) 0°-20°
(D) 60° -

(©) 20°-40°

(D) Neutrophils

10

7.

In an average soil, the % of organi

ic
rganic

matter is about :
- (A)20 (B) 30
(©) 45 ®) 5

72.

73.

74,

75.

76.

T7.

78.

79.

This is an exainple of rooted
hydrophyte :

(A) Nymphaea  (B) Wolffia
(C) Salvinia (D) Hydrilla
This is an example of animals wlnch
do periodic migration :

(A) Arctic tern (B) Ekk

(C) Whale (D) Locust

Which stage comes first in Xerarch
succession ?

(A) Lichenmoss (B) Annual herb

(C) Perennial herb (D) Scrub

Which group has the highest number
of species among these ?

(A) Algae (B) Fungi

(C) Fish (D) Reptiles

It is a stimulant : -

(A) novacaine (B) opium

(C) valium (D) mqscalin
Flooding of the field controls :

(A) Fungi ~ (B) Bacteria
(C) Viruses (D) Nematode

During hardening, plantlets are kept
under :

(A) reduced light & high humidity
(B) increased light & high humidity
(C) reduced light & low humidity
(D). increased light & low humidity

Fruit softening is promoted by :

(A) Cry protein

(B) Hirudin

(C) Polygalacturonase

(D) Amylase '

How many classes of immuno-
. globulin are there in humans ?

A) 3 ®) 4

© 5 (D) 6
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.(A) RNAdependentRNApolymase

(B) DNA dependent RNA polymerase
(C) DNA dependent DNA polymerase
(D) RNA. dependent DNA polymerase

In vedic times, living organisms were
classified into following number of
classes :

(A) 2 ®) 3

© 4 D) 5

Anthrax is caused by

(A) virus

(B) bacteria

(C) fungus

D) chermcal compounds

Who gave the nomenclature
according to which humans are .
called Homo sapiens ?

(A) Darwin (B) Mendel

(C) Aristotle (D) Linnaeus

In amniocentesis, the following is
examined :

(A) amino acids
(C) skin cells

(B) membrane
(D) sex organs

98% of all living organisms is made

up of just following number of
elements :

(A) 25 B) 6

(©) 50 (D) 100
Prostaglandins are modified forms of
(A) Aminoacids (B) Nucleotides
(C) Fattyacids = (D) Disaccharides
Night flowers are mostly :

(A) White (B) Green

(©) Red (D) Blue .

In Miller’s experiment, the follbwing
was not the part of starting chemicals :
(A) H,S ® H, -
Which was the first catalytic
molecule during evolution of life ?
(A) DNA (B) rRNA

(C) tRNA

(D). mRNA
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(C) conifers

This is an CRaimpic of i:muuguus
organs ;

- (A) brains of fish & humans

(B) thorns and tendrils in plants
(C) wings of birds & butterflies
(D) forelimbs of frogs and horse

‘This is not an example of vestigial

organ in humans :

(A) externalear . -

(B) reduced tailbone

(C) wisdom teeth

(D) intestine

This is believed to have evolved in
Cenozoic period :

(A) bryophytes  (B) ferns

. (D) cycads

Which is highest in the hierarchy of

taxonomic category ?
(A) Genus (B) Family
(C) Order (D) Class

~ What is the order of Tulsi ?
(A) Lamiaceae - (B) Lamiales
(C) Poales (D) Sapindales
Chitin is a/an :
(A) Amino acid
(B) Polysaccharide -
(C) Protein

(D) Oligosaccharide

Rustisa:

(A) Basidomycete (B) Ascomycete
(©) Phycomycete (D) Slime mould

Which is not a Bryophyta ?
(A) Hepaticopsida

(B) Anthocerotopsida

(C) Bryopsida

(D) Lycopsida.

This provides brown colour to the

algae :
(A) Chilorophylla (B) Phycocyanin
(C) Fucoxanthin (D) Chlorophyll b

100. Which one is a red algae ?

(A) Gelidium (B) Chlorella
(C) Volvox (D) . Ulothrix
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N

Roii No., Examination Cenire and its Code and Test Bookiet No. shouid '.'bewnunn_'“ on the Pari-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the

_ circles corresponding to the digits be blackened with Blue / Black ball point pen only.

IIE & Il & Fite Wl ® e T/ e % W we / w-gia B de Al B I W

TG MR R W | TR F AR @ # 37 ater @ wer W et / el @ 7 9t mmﬁwrﬂaﬁa& '

Ll oLl | eewenl) e vt e ) & ¢
6 A /e | wllgt. WA

- Example: ~ IfRollNo.is 179682 "and - the Question Booklet No. is 14390, then

AT ;- o Jer A 179682 F w wie-gfaer T 14390 X, at
.1;?“9682' 1[2][3]9]0
OEEEEIE OEREEIE
Q|o|e|o|e|e P|0|0e|0|0
PO|0|0|0|O® 00|00
o|e|e|e|e|6 ®|0|0|6|6
(GHOACA JIGIIG] |e|le|el|e|e
ole|o|o|o|e |e|e|o|olo
o|le|e|eo|e|e P|O|®|0|0]
eIttt telte ettt
PIO|I0|0|e|® COIO|I0|0|®

(C) Process for Filling up OMR Answer-Sheet (3we-awes uré-II =} et wh wtwem) :

1.

The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriste circle provided in front

- of the question number, using Blue / Black Ball Point Pen only. Ifacandldamcusesthepencﬂfordarkenmgme

circles on the answer-sheet his/her answer-sheet will be rejected.

W wg-Prerea W & ¥ | el e 3 o Pl e SRt F @ et w o e S lvmﬁﬁm
o & s SR P Qe it At/ el sfer e 9 R o b | 2w SR
rnaawma#mmmmmammmm I

Example : If correct answer for question no. 7.is the choice ‘B mendammecimleinfmtéfqmﬁonmm -

2.

shown below :

. R a&mm‘?%ﬁﬂqﬁmﬂs aﬁm% ﬁmm?%mﬁmﬁﬁﬁﬁuﬁwaﬁm

bErE:

Q. No. 1 @@@
QN2 ®@® OO

QNo.7 @ 000
(8) The circles, asd@scdbedmc-lahove.mwbedmmdbymgnluefmnanm%nmﬂy
) mmolimm}mtﬂﬁﬁvﬂummmwhmﬁmh '
() The shading should be dark and should completely fill the circle.
(@) e P qoiey / 5O O o A e |

. Continued on the next page.
5 (3t e T 3 1)




c) Onlyonecimlecomspondingtoﬂrecormctanswershoulﬁbedarkenedas shown below :
Q) aﬁaﬂr#mﬁa%wﬁﬁﬁwﬁhwwhﬂwﬁﬁmmmt:

Icorect /T8 A @ @O - OPOO « OYFOO « O®OO®
Incorect/ T D @O « OO0 » OOSO « OGO
(d) The candidates must fully satisfy themselves about the accuracy of .the answer before darkening the

appropriate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of

eraser or white / correction fluid on the answer-sheet is not pemusmble as the answer-sheets are machine
gradable and it may lead to wrong evaluation.

(5) ST vt = ek / el dier e e @ TR R e vt 7w it e g a o i @ 3 % B
e @ et = 1 @ &, i et O F 0 URE S AR ¥ | ST O TR e Y T
H‘hﬂ wA 1‘1 l‘-ldl'i tl:l dij'-li!‘l "iﬁl QI 'ltu 6, qqllm 61‘!(“‘-!:!‘15 =hl H’lll'i L "IWI?W T ST 6 dﬂTL{HI W T
i J Je ¥ o

(e) IfmorethanonecirclemdarkenedusmgBlue!Blackballpomtpenmnfﬂaemsponselsmarkedmanyother
manner or as shown in “Incorrect method” above, it shall be treated a5 wrong way of marking.

(®) afr u R e it = eft / el e e o o S A SR Rt T W @ st S R T
TIeT AT | Se AT ST At S e RN R s )

Rough work mustnot be done on the OMR answer-sheet. Free space provxdecl in the quesnon booklet snould only
be used for this purpose.

?ﬁﬁrmmwmwmwaﬁm% twmmﬁWWWWﬂsﬁmwtmwm

CEm | _ .

“Bar Code” printed on the Answer Sheet must nbtbgtampeied or in any way marked; otherwise the candidature

will be rejected.

| IE-THE W Y “arrmre” W et wE = e aﬁwaﬁﬁmﬁww;hﬁﬁaﬁtwﬁwﬁ%%m
T it Feefigart g w1 & S | '

Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
Answer Sheet as this may lead to disqualification.

mm%ué—l%mﬁ&mwwﬁm&mwwﬁmﬁmmﬁmwmﬁmwﬂémwmﬁ%
T arairaren R & o ww ¥ | | .
- Forvenﬁcauonofyourhandwnung, itis necessary to write the prescribed Text completely which is printed on the

backsu:leofthePart-IofOMRanswer-sheetanda]soputyomsxgnamremspecnﬁedspaoeml{mch&Enghsh
otherwise your answer-sheet / candidature will be rejected.

.. IR 1 ¥ 7 sifiger merier = Prdemper s et 3 qof v @ feret st o R
ot v it & Foetfier o st |mﬁaﬁaﬁﬂfﬁﬂqwaﬁm&t | S 7} TR IR ST SR/ Seieart
= T w Rear s )

In case you do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
liable to be rejected for which you yourself will be fully responsible. _
TR A FNTHAR. F FR-T H 7S 9T 7 53 7 Frdeit = wrer 1 R at mw—wmﬁmwm
%ﬁaﬂ:fmmmﬂmﬁmﬁﬁﬂ |
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